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Question 1.Select the related word/letters/numbers from the given alternatives:
38 m fawedi o ¥ YafRia wea/31erl/e & gful
Sanitation : Iliness :: Care : ?

WSl : SERT :: EYE ; ?
Options:

1) Rest

SIRH

2) Ignore

Juarn

3) Accident

4) Suggestion
SEC]

Correct Answer: Accident

gde

Candidate Answer: Accident

gde

Question 2.Select the related word/letters/numbers from the given alternatives:
30 T fadeul & ¥ SafRId ee/S1erl/<em & gMHul

GrtK: KtrG :: FjbH : ?

Options:

1) HbjF

2) jHbF

3) FbjH

4) HjbF
Correct Answer: HbjF
Candidate Answer: HbjF

Question 3.Select the related word/letters/numbers from the given alternatives:
38 ) fawedl o ¥ YafRia wea/31eRl/e & gful

20:11::102:7

Options:
1) 49

2) 52
3) 61

4) 58
Correct Answer: 52
Candidate Answer: 52

Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

frafafad gy & fu T fawedl & 4 favy <rec/srar/<@ g &I gHy 2

Options:

1) Man : Garage

et : IR

2) Pig : Sty

3R @ RPN

3) Horse : Stable

dIeT : 3dad

4) Cow : Shed

TR : SR

Correct Answer: Man : Garage . .
Isit www.gmaths.in for tons of free study materials and latest exam updates.

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MzE=&appid=1a4fff78943b24af40c79deccf09bb87 124


http://thepracticetest.in/challengesystem/logout.php?appid=1a4fff78943b24af40c79deccf09bb87
http://vacancycollection.nic.in/sicpochallenge16/sendrollno.jsp?rollno=8201069266

9/22/2016 Staff Selection Commision

3t : TR Downloaded from www.qmaths.in
Candidate Answer: Man : Garage

et : IR

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

frafeiad us o iU e fdsedl # @ fawH Srsa/ 31aR/w@ &I AT ?
Options:
1) WU

2) DBA
3) NML

4) HGF
Correct Answer: DBA
Candidate Answer: DBA

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

fafofad uy & U e fawedl # § faw g/ 31er/Te &I gy ?
Options:
1) 1629

2) 3418
3) 2349

4) 1834
Correct Answer: 1834
Candidate Answer: [ NOT ANSWERED ]

Question 7.Arrange the following words as per order in the dictionary.
Fofared Weal & AN & U T HH & AR faRau ?

1. Exploit 2.Explosive 3.Exponent 4.Exposition 5.Explore

Options:
1)1,3,4,52

2)1,5,2, 3,4
3)1,5, 3,2 4

41,253, 4
Correct Answer: 1,5, 2, 3, 4
Candidate Answer: 1,5, 2, 3, 4

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

frufaRad oy & e s o w8, o w ue g g1 AT Y fawedt & ¥ a8 Wl fAwed ghe S 3rgehd &) Q1 ST ?

CAR, GCO, KEL, 0GI, ?
Options:
1) SIK

2) SIF
3) TIK

4) TIL
Correct Answer: SIF
Candidate Answer: SIF

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

fFrafifad uy & ue e 3 T 8, fSrd e ue qwi 81 RRu e el §f @ 9 9t fAeew gRT St 3rgehH oY 1 BT ?

100, 50, 52, 26, 28, ?, 16, 8
Options:
1) 14

2) 30

3) 32 Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Correct Answer: 14
Candidate Answer: 14

Question 10.Mithilesh said to Neha, '"Your only brother's son is my wife's brother.' How is Neha related to the wife of Mithilesh?

YT = =181 A HgT, " TR IHAA HIE BT TH B Ut BT YT 51" 8T BT U B! Tell F ey Iy ?
Options:

1) Aunt

g3{1

2) Mother-in-law

N

3) Sister

Ci|
4) Mother

HIdT

Correct Answer: Aunt
g311

Candidate Answer: Aunt
g311

Question 11.W, X, Y and Z are four friends. W is shorter than X, but taller than Y, who is shorter than Z. Who is the shortest among all?

W, X, YR ZIRBFABIW, X BT AT Y A dars, SN fF ZA Bler g1 37 IR H o BT HH § ?

Options:
1HwW

2) X
3)Y

4)Z
Correct Answer: Y
Candidate Answer: Y

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word.

fAfeRad faseul # ¥ 9% s AT Sl T 71U 2eqt & 3H&RT DT YIRT Db -5 ST ST Hebdll ?

SPECULATION

Options:
1) SPECIAL

2) TOPIC
3) SECULAR

4) CAUTION
Correct Answer: SECULAR
Candidate Answer: SECULAR

Question 13.If A = 26 and X-RAY = 40, then WHAT =?

TfE A = 26 3R X-RAY = 40 B, a) WHAT fFad sRIeR 81T ?

Options:
1)52

2) 54
3) 56

4) 58
Correct Answer: 56
Candidate Answer: 56

Question 14.If 'A' stands for '+, 'B' stands for '-' , 'C' stands for 'x' , what is the value of (10C4)A(4C4)B6 = ?
e 'A' T Hadd '+ B, 'B' BT AT - 3R 'C' BT Hawd 'X' &, dl (10C4)A(4C4)B6 = ?

Options:

1) 46

2) 50

3) 56

4) 60
Correct Answer: 50
Candidate Answer: 50

Question 15.If 3245289 = 35, 4419484 = 43, then 625400 = ?
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Tl 324289 = 35, 441484 = 43 B, Al 6256400 HT HH FIT T ?

Options:
1) 431

2) 413
3) 341

4) 143
Correct Answer: 143
Candidate Answer: 431

Question 16.Select the missing numbers from the given alternatives
12848412412810044 7

fau T et § | T 3iep T DY ?
128484124128 100 44 ?
Options:

1) 80

2) 56
3) 48

4) 36
Correct Answer: 56
Candidate Answer: [ NOT ANSWERED ]

Question 17.A person started walking towards West and covered a distance of 15m, he turned right and walked 10m. Again he turned right and walked 5m and in the
end he turned left and walked 15m. Which direction is this person facing now?

T Aot A UfEH SISk 1 o o5 ofR 15 Hiex &1 g 73 11 R 98 3T geax 10 Hiex Ial| IT& 916 3T Geae 5 HIe e iR 3fd # 98 Si g$aR 15 Hiex
Tql| 3§ 39 Hfdd &1 g fpa femm & § 2

Options:

1) North

I

2) South

Sféror
3) East

4) West

Correct Answer: North

Candidate Answer: North
IR

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements:

1. All cycles are ducks.

2. All ducks are swans.

Conclusions:

L. All swans are cycles.

II. Some swans are cycles.

fafafad Uy o te o1 §) 9oaey 38 T g, o 3m &l Fise/Aradng, 1 3R 1 Feral T €1 31U faaR &A1 § fob dader I § IR 98 I Td 9 9 Udid gid
g1 3! ol &A1 @ b T U goden # @ S Ry U 3 98} fse/Araar ReTen S Idr @ ? 9oded : 1. I IRfed s g1 2. I s g9 &1 ey : 1
Tt €9 efhd 81 11 9 g9 IRfhd g1

Options:

1) Only conclusion I follows

Fad sy 1 T8l g

2) Only conclusion II follows

Fad FAwpy I I8t gl

3) Both conclusion I and conclusion II follow

s 1 3R 11 ST TR €

4) Neither conclusion I nor conclusion II follows

T ey 198 § SR 1€ e I B

Correct Answer: Only conclusion II follows

Fad ey 198 |

Candidate Answer: Only conclusion 1II follows

Fad F=py I Tet 81

Question 19.Find the number of triangles in the given figure?

&7 el F Brysil &) T Fid BT ?
Options:
1)8

2) 10
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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4) 14
Correct Answer: 14
Candidate Answer: 12

Question 20.Which of the diagrams given below correctly represents the relationship among WOMEN, MOTHERS, SPINSTERS

Frofafed & § SH-T1 oRw 3T U Wl & o9 et Jey oY axiar 3| afgeny, arang, sfyarfany

Options:
1)

OO0
OO

4)

Correct Answer:

Candidate Answer:

Question 21.Which answer figure will complete the pattern in the question figure?

fofafed & 3 HH-3 IR HA Uy Pl & ufaey & -1 Haft 2

?:-1

il

Options:
1)

’

3)
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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L

Correct Answer:

’

Candidate Answer:

;.

Question 22.From the given answer figures, select the one in which the question figure is hidden.

3 1T IR il B ¥ I IR SMPid B AT ord uy spfa Ffgd Bl

]

Options:
1)

2)

3)

4)
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

e et BrTS Y, =i T Snpfaa B faRaTe SIUR WIS Hiel oY af Wie & §ic 98 fbd SR MTepia S fears 3 2

HHHHHHH FHEHEEH e
| i :
Options:
1)
o] e}
o] o}
o} O
0 0
o} o]
o) 0
2)

o000 o000
o000 000

3)
o
LAPNP
o0
00 0 o
0.0
o0
O Q
4)
0 0
0 0
0 0
2 8
0 0
0
o o©

Correct Answer:

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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3

0

OO
oo OO

o

Candidate Answer:

O
GDO

o o

Q0 00
0000

o o]

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

e TP TYUT BT MN T IR @1 1Y af & T8 IR TG B F SF-UF SHTpid Uy Spfa $1 el ufafara gin 2

£V 1A LA

Options:
1)

2)

3)

Candidate Answer:
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Question 25.1In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., S can be represented by 02,11, etc.,
and 'L' can be represented by65, 86, etc. Similarly you have to identify the set for the word '"GATE'

1 T R [ ) ) W
0 0] T 5 G M 3 2 E L K |

L K I A

K I E

E L I

L

= o w»m 4
o Z2 o w
- O Z o
v = g Z
G w A O
W @ o~ &
7= ¥ ' m

1
2
3
4

m = I

I A

T Ueg Had U TST-THE gRT <= T 8, S o fyepedt & @ fordft wop o o man 81 fyeedit oW 10 e T 31eRi & <) o7 g1 <=if e §, 99 i < e e
al [ 7 B 1 SHTeIg 1% WY 3R Ukl &1 GBI 0 T 4 3R MM N1 599 & 718 g1 3 [ U 318R DI Ugd IUD! Uakil 3R d1g H TawH T gRT =TT off
FhlT |§a€w$ﬁm'5'ﬁoz, 11 3T GRT a1 ST v 8 qUT'L " Y 65, 86 3M1fe GRT ST bl § | 3 aRE ¥ MU 3T §U ek 'GATE & oW g &t
UgaAI B

Options:

1) 30, 89, 11, 57

2) 21, 68, 34, 78

3) 21, 96, 24, 78

4) 12, 89, 42, 68

Correct Answer: 21, 96, 24, 78

Candidate Answer: 21, 96, 24, 78

Question 26.Which institution is known as 'Soft Loan Window' of World Bank?

D I TR PI Ay dF & Ay Fol [l & 90 A THI ST 8 ?
Options:

1) IDBI

R 3Neifie faer §

2) IDA

LI T

3) IMF

RIS el By

4) RBI

YR Rold d

Correct Answer: IDA
ST

Candidate Answer: [ NOT ANSWERED ]

Question 27.Which curve shows the inverse relationship between unemployment and inflation rates

D T ah RIATRT 3R G&T Whifd-&R & Fae B Ui d: SRl g ?
Options:
1) Supply curve
qid I
2) Indifference curve
CER
3) IS curve
3TS T a5h

4) Phillips curve
fohfer ash

Correct Answer: Phillips curve

fohfer ash
Candidate Answer: [ NOT ANSWERED ]

Question 28.The longest sea beach in India is

YRA 7 Yo ova TG - e (- 51 ) el @ ?
Options:

1) Chapora beach

ELIRGHGIE)

2) Diu beach

3ig dc (&)

3) Aksa beach

3T de (d)

4) Marina beach

TR &

Correct Answer: Marina beach

AT

Candidate Answer: Marina beach

AT

Question 29. TRt BfWANMWASE N Eth SdrPfo rtem's effree Jtudy materials and latest exam updates.
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-SRI fAYF THT 1 prdTd fha= a8 ST gar g ?

Options:

1) Six years

6 a9

2) Five years
599

3) Four years
49y

4) Seven years
7 a9

Correct Answer: Six years
6 a%

Candidate Answer: Six years
6 a9

Question 30.Which one of the following Committees is described as the 'twin sister' of the Estimates Committee?

Fofarted & 9 ®F @ 9l & wehed Iifd @ 'Jeal 98 HeT AN § 2
Options:

1) Public Accounts Committee

i oraT At

2) Committee on Public Undertakings

TaSTd Iuehy At

3) Departmental Standing Committee

fayrit vt afifa

4) Privilege Committee

Correct Answer: Public Accounts Committee

<lep i Hivfd

Candidate Answer: Public Accounts Committee

[IEARICISIEIR]

Question 31.Potato is a ?

T TG ?

Options:

1) Root

S

2) Stem

god

3) Bud

Pt

4) Fruit

Tl

Correct Answer: Stem
Sod

Candidate Answer: Stem
Sod

Question 32.English education was introduced in India by

YR T UG Riaf fargq SiRe &1 2
Options:
1) Curzon

Ho
2) Macaulay

3) Dalhousie
4) Bentick
S®

Correct Answer: Macaulay

Candidate Answer: [ NOT ANSWERED ]

Question 33.Short term contractions and expansions in economic activity are called

e fepararamal o sreq wifers Ypa SR AR &) o1 Hed § ?
Options:

1) Expansions

ICRSIN

2) Recession

3) Deficits

HIcT

4) The business cycle

CCRICRCES

Correct Answer: The business cycle
CCRICRCES

Candidate Answer: The business cycle
gady dh

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Fafifed # B a1 8 HId-YeR § Ted e I9E © ?
Options:
1) Bramhaputra Valley

2) Damodar Valley

aTHIeR Bt

3) Mahanadi Valley

eI

4) Godavari Valley

Correct Answer: Damodar Valley
IR Urct
Candidate Answer: [ NOT ANSWERED ]

Question 35.Rainfall caused by intense evaporation in equatorial areas is called

YA &F § T8 aTuT & HRUT g dTel aui &l 31 Hed g ?
Options:

1) Orographic rainfall

g4y auf

2) Cyclonic rainfall

3) Frontal rainfall
I auf
4) Convectional rainfall

Fag-t aui
Correct Answer: Convectional rainfall
Hag-t aui

Candidate Answer: Convectional rainfall

HaH! auf

Question 36.Haematopoiesis take place in

I Hel gl @ ?
Options:
1) Lungs

2) Pancreas
STUR™

3) Liver
R

4) Bone marrow

3T Hwll

Correct Answer: Bone marrow

3T ol

Candidate Answer: Bone marrow

3T HolT

Question 37. is a hormone that regulates the amount of glucose in the blood

P T BTHM Iad | ThT Bt AT FfAd drar g 2

Options:
1) Glucogen

2) Thyroxine
YRRITeRT

3) Oxytocin
SRR

4) Insulin

e

Correct Answer: Insulin

e

Candidate Answer: Insulin

e

Question 38.Wall Street collapse led to

J1d e T WRI & T AHATD TR S T o1 TU1d TS ?
Options:

1) World War II

fadia Tes

2) Recession

=l

3) U.S. attack on Iraq

D W SHHIBT DT THHU
4) Great Depression

Correct Answer: Great Depression

Visit www.gmaths.in for tons of free study materials and latest exam updates.

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MzE=&appid=1a4fff78943b24af40c79deccf09bb87 11/24



9/22/2016 Staff Selection Commision

Candidate Answer: Great Depression Downloaded from www.qmaths.in

Question 39.Gandhara Art is the combination of

TYR Hal [ S Heraf &1 YA g ?
Options:

1) Indo - Roman

feg - o

2) Indo - Greek

fee - gt

3) Indo - Islamic

g - SwAfiep

4) Indo - China

fgwa - <

Correct Answer: Indo - Greek
fee - garft

Candidate Answer: [ NOT ANSWERED ]

Question 40.If electric resistance is to be decreased, then the number of resistances should be connected in

gic; faggd UfcRIY HH 1 B1 Al UicRIYD] b1 YT Dl fbad e digy ?
Options:

1) Series

o7 (i)

2) Parallel

AR

3) Mixed arrangement

oS soawn

4) None of these

$TH Y IS 781

Correct Answer: Parallel
HHR

Candidate Answer: Series

aTa (R

Question 41.Related to computers, what is 'Wetware' ?

IR & Yo # de IR TS ?
Options:
1) Computer programs

DHYR
2) Circuitory
it

3) Human brain

ISR TSI

4) Chemical storage devices

IS G- I

Correct Answer: Human brain
HHa-HiTSh

Candidate Answer: [ NOT ANSWERED ]

Question 42.Indira Goswami, the famous editor, poet, scholar and writter won the Jnanpith Award in which language?

Rig TrTed, HiawE, faget siR afaewT 3fer MRandt & & @ i & forg IFdte geveR fear mar 2
Options:

1) Bengali

CUIS]

2) Odia

3fea

3) Assamese

4) Hindi
fe=l

Correct Answer: Assamese

g
Candidate Answer: [ NOT ANSWERED ]

Question 43.Ultraviolet radiation in the stratosphere is absorbed by

AT Hed H URISTHT AT fhads gRY Sra=ifd fasar S g 2
Options:

1) SO,

SO,

2) Ozone

3T

3) Oxygen

SICNITE]

4) Argon
Correct Answer: Ozone

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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31

Question 44.All isotopes of the same element have

T dd & Wt SeHey § R g g ?

Options:

1) different atomic numbers and different atomic mass

i TRATTfa® FHiw 3R e weAmIfas defd

2) different atomic numbers and the same atomic mass

e TS $Hid SR T i1 TRATTA S Tgfd

3) the same atomic number but different atomig: masses

% S RATIAS HHIE g e wAmfds Tefa

4) the same atomic number and the atomic mass

TS SRl IRAMA HHiew SR T ol IRATaS dgid

Correct Answer: the same atomic number but different atomic masses
TH S RATIAS HHiH g e mRAmfas dgfa

Candidate Answer: the same atomic number but different atomic masses

TH S RATIAS HHiH g e wRamifas dgfa

Question 45.Nitric acid does not react with

TRfew o FufaRad & 3 frads Ty sififesar 7ef Fxar g 2
Options:
1) Gold

2) Copper
GIEll

3) Zinc
SRl

4) Iron

aiiet

Correct Answer: Gold

Candidate Answer: Copper
SISl

Question 46.Nandadevi peak is located in State

Faredt At e sy W fRyT § 2
Options:

1) Himachal Pradesh
IREIEEREE]

2) Uttarakhand

JRIAUS

3) Uttar Pradesh

JR TR

4) Sikkim

f¥fary

Correct Answer: Uttarakhand
JRIAUS

Candidate Answer: Uttarakhand

Question 47.Which one of the following industries is known as 'Sunrise Industry' ?

fofafed & ¥ oF 3 I o) ' Qieg I HRTSEIR ?
Options:
1) Iron & Steel

qleT R .
2) Cotton Textile

It 9%

3) Information Technology

4) Tea & Coffee

A 3R BB
Correct Answer: Information Technology

Candidate Answer: [ NOT ANSWERED ]

Question 48.The material used in electric heater

is...

foTelt & gler # P Gt ogad ekl § ?
Options:
1) Tungsten

2) Nichrome

EEe)
3)Brass  Visit www.qgmaths.in for tons of free study materials and latest exam updates.
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4) Steel

@

Correct Answer: Nichrome

EEde)
Candidate Answer: [ NOT ANSWERED ]

Question 49.Pellagra and Scurvy are caused by which pair of vitamin deficiency respectively

A SR Whdf HUR: HH J faefiql & vl & SR g § ?
Options:

1) Vitamin C and Vitamin D

faeTfem < iR faeriq St

2) Vitamin B-12 and Vitamin C

faerfom d-12 ok faerfiq <

3) Vitamin C and Vitamin A

faerfe < iR faefim T

4) Vitamin A and Vitamin B-12

faeTf T ok feri= &-12

Correct Answer: Vitamin B-12 and Vitamin C
faerfm &-12 iR faeri= <

Candidate Answer: Vitamin B-12 and Vitamin C
T 12 3R ferfiq @

Question 50.Who appoints the Finance Commission in India?

YR & fa T &t Fgfad o wRar g ?
Options:

1) Governor, R.B.L

AR, YR Rotd s

2) CAG of India

YRd & Fd=e TaH Hglia ulieidh

3) President of India

URd &

4) Central Finance Minister

B4 fad HATe

Correct Answer: President of India

HRd & gufd

Candidate Answer: President of India

YR & Agufd
Question 51.A can do a certain job in 12 days. B is 60% more efficient than A. Then B can do the same piece of work in

A foelt B @1 12 37 & R THa1 § SR B, A W 60% 3 HRI-HRIA g | TARY B 3 HM &I foba fod H ST 2
Options:

1) 8 days

g fa1

2)

?1d ;
5 days

1
?Eﬁ—rr
3)

1251 day.
3 days

51ﬁ—rr

4

4) 6 days
6 fad

Correct Answer:

?1d ;
5 days

1
'}I‘ 20 E u_-|
2
Candidate Answer:

?1d ;
5 days

1
?Eﬁ—rr

Question 52.A rectangle with one side 4 cm is inscribed in a circle of radius 2.5 cm. The area of the rectangle is:

T 3, @t T Yo 4 A, g, 5w 2.5 QA Boan ardt g0 & 81 omad &1 &80 a 1 g1 2
Options:
1) 8 cm?
8 .#1.2

m2
212 yVisit www.gmaths.in for tons of free study materials and latest exam updates.
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3) 16 cm?

16 4./.2

4) 20 cm?

20 .72

Correct Answer: 12 cm?

12 9.2

Candidate Answer: [ NOT ANSWERED ]

Question 53.A merchant marked cloth at Rs. 50/metre . He offers 2 successive discounts of 15% and 20%. The net price/metre is :

D13 AUR HUS W Rs. 50 Ui W A 3ifdd HAT |1 I8 HHRM: 15% 3R 20% Be a1 7| ufd o Fad (Ae) iwa «an grft 2

Options:
1) Rs. 32.50

2) Rs. 42.50
3) Rs. 34.00

4) Rs. 40.00
Correct Answer: Rs. 34.00
Candidate Answer: Rs. 34.00

Question 54.3 brothers divided Rs. 1620 among them in such a way that the share of second is equal to 5/13 of share of other two, combined. What is the share of
the second one?

T uISar F SMI H Rs. 1620 T AR T d1eT o GIR HIE Pl 37 & ST & T 3T T 5/13 e fiyamm| g Wis o fexan fara 8 2
Options:
1) Rls. 1170

2) Rs. 450
3) Rs. 540

4) Rs. 500
Correct Answer: Rs. 450
Candidate Answer: [ NOT ANSWERED ]

Question 55.A dealer marks his goods 20% above their cost prices. Then,he allows such a discount on the marked price so that he makes a profit of 8%. The rate of
discount is:

géwu%&mﬁaﬁ&ﬁa?nqumnﬂﬁm% 3ffY TR sifdhd w1 g1 TR 98 3ifdrd T TR Ush T Be &l § ol I 8% HT & 8T ¢ | fad ST aretl ge
RAT?

Options:

1) 12%

2) 10%

3) 6%

4) 4%

Correct Answer: 10%

Candidate Answer: 10%

Question 56.The salary of a person is reduced by 20% . To restore the previous salary, his present salary is to be increased by

fort sufda &1 aa- 20% e 71 I IWH R Id9 WR A & oY I¥P TdHH dd- B [T SgHT1 gF 2
Options:

1) 20%

2) 25%

3) 17.5%

4) 22.5%

Correct Answer: 25%

Candidate Answer: 25%

Question 57.Two buses travel to a place at 45 km/hr and 60 km/hr respectively. If the second bus takes 52 hours less than the first for the journey, the length of the
journey is:

3 T A 45 fob. . /90er 3R 60 .1 /aveT &) a1 J aE R W 71 AR TN I Ul 9 DI SUT AR H 5 V2 YOS HH Al & af Iy A fba- avelt § ?
Options:

1) 900 km

900 fob. .

2) 945 km

945 fop .

3) 990 km

990 fob. .

4) 1350 km

1350 fob. 4.

Correct Answer: 990 km
990 fob.HT.

Candidate Answer: 990 km
990 fob.#T.

Question 58.
1 1

If (x +=): (x-—) = 5:3,the the value(s) of x is [ are
x x

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Options:
1)+1

2)+2
3)+3

4)0
Correct Answer: +2
Candidate Answer: +2

Question 59.An exterior angle of a triangle is 115° and one of the interior opposite angle is 45°. Then the other two angles are

foralt ST 7 STRT HIUT 1150 § IR T SM=IRD T HI0T 45° HT g | Al 317 &I HIUT BT AT Fd1Sy ?
Options:
1) 65°, 70°

2) 60°, 75°
3) 45°, 90°

4) 50°, 85°
Correct Answer: 65°, 70°
Candidate Answer: 65°, 70°

Question 60.
Ina AABC,zA+ 2zB=75%and 2B + 2C = 140° , then 2Bis

TS AABC,2A+ £B=75%, 2B+ 2C=140°, AT 2B &FIT BIM?

Options:
1) 40°

2) 35°
3) 55°

4) 45°°
Correct Answer: 35°
Candidate Answer: 35°

Question 61.
The value of (1+tanZ20)(1-Sin0Q) is

(1+tan?8) (1 — sin?@)ehl HIeT FAT GIEN?

Options:
1)2

2) 1
3) -1

4) -2
Correct Answer: 1
Candidate Answer: 1

Question 62.1f 4x2 - 12x +kis a perfect square, then the value of k is

e 4x2 - 12x + k Iof a7 B1 Y k HT AF Ry ?
Options:
1)2

2)9
3) 12

4) 10
Correct Answer: 9
Candidate Answer: [ NOT ANSWERED ]

Question 63.(1132 + 1152 + 1172 - 113 x 115 - 115 x 117 - 117 x 113) is equal to

(1132 + 1152 + 1172 - 113 x 115 - 115 x 117 - 117 x 113) fFTd R & ?

Options:
10

2)4

Visit www.gmaths.in for tons of free study materials and latest exam updates.

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MzE=&appid=1a4fff78943b24af40c79deccf09bb87

16/24



9/22/2016 Staff Selection Commision

3)8 Downloaded from www.qmaths.in

4) 12
Correct Answer: 12
Candidate Answer: [ NOT ANSWERED ]

Question 64.The average of runs scored by a cricketer in his 99 innings is 99. How many runs will he have to score in his 100th innings so that his average of runs in
100 innings may be 100?

fopait fohdbe QST gRT Teit Tl 99 UTRGT & ITP GRT -1 T T T 3id 99 1 100dT URY H I foba T S B difs 100 TIRET BT 3T 31 T 3M¥d 100 B ST ?
Options:
1) 100

2) 99
3) 199

4) 101
Correct Answer: 199
Candidate Answer: 199

Question 65.

If rsinf = 1, rcos® = V'3 then the value of r’tan8 is

ﬂﬁ rsind = 1, reosf = /3 ET;'ftanETﬂIiﬂ m ?

Options:
1)4

3)
4

V3

4) 4v/3

Correct Answer:
&4

V3
Candidate Answer:
4

V3
Question 66.1f p> - ¢ = (p- q) ((p - )% +x p q ) then value of x is

A p3- a3 =(p-q) ((p-q)?+xpq) Tl x B AN I I ?
Options:
1)1

2) -1

4)2
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

Question 67.

If {El-iTt)1 = 3,then the value of 3+ a2+ 3%+ 11is

1
I (a + S 3T dlal® + al2 + ab + 1 HIAA A HITAA?

Options:
1)3

2) 1
3)0

4)2
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 68.The top of a broken tree touches the ground at a distance of 15 m from its base. If the tree is broken at a height of 8 m from the ground, then the actual
height of the tree is

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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ot g e o1 < U 39 T 15 . 3 g8 R (PO @ axdherel fharinvsvEvomRratiig dawt g Sar @ o e

Options:
1) 17 m
1718
2)20 m
2010
3)25m
25
4)30m
30

Correct Answer: 25 m

257

Candidate Answer: 17 m
1718

Question 69.In APQR, straight line parallel to the base QR cuts PQ at X and PR at Y. If PX:XQ = 5:6, then the XY:QR will be

3 APQR H 3MTYR QR & THIR TR YT PQ &I X TR 3R PR B Y WR HIed! g1 TS PX:XQ = 5:6 81 al XY:QR FT &I ?
Options:
1) 5:11

2) 6:5
3) 11:6

4) 11:5
Correct Answer: 5:11
Candidate Answer: 5:11

Question 70.A man borrowed some money from a private organisation at 5% simple interest per annum. He lended this money to another person at 10% compound
interest per annum, and made a profit of (1 26,410 in 4 years. The man borrowed

foredt safad 3 forsit Aot TiTe § 5% a1t ATURT SN B &R TR g AR IYR | TALENd 9 98 MR fblt 37 Afad B 10% NS Iehgfa S TR ¢ o 3R 9
WRIT4 T T () 26410 H A M| 39 Afad A farat AR IR &t ot 2

Options:
1) 200000

2) 150000
3) 132050

4) 100000
Correct Answer: 100000
Candidate Answer: [ NOT ANSWERED ]

Question 71.

From twa points, lying on the same horizontal line, the angles of elevation of the top of
the pillarare @ and @ (2 < D). If the height of the pillar is ‘h'm and the two points lie on
the same sides of the pillar, then the distance between the two points is

ve g A= @ o o fagat &, e wowr & fnd &1 30=0= For @ 3K a(e<o) B
afy st €1 318w A § 3 2 i T & ow R A A e Rigan ¥ e &
gl aane?

Options:
1)
h{tanf — tan @)m

2)
h(cot® — cot8)m

3)
h(cotf — cot@)m

4)

tanf tan®
tand—tang

Correct Answer:
h{cotf — cot@®)m

Candidate Answer: [ NOT ANSWERED ]

Question 72.The Bar graphs represents the number of road accidents due to bus and car during the years 2008 - 2013. Study the graph and answer the questions.
TY IR W & 98 2008-2013 F GRM T 3R HR & HRUI §5 TSH U3 & TReArl Pl S=far 71 § | W 6T 1&g Iy 3R U=A! & IR T
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B0 s Mo of accidents by bus
E so 3 No of accidents by car
3
a
b2
£ 40
g
I
i
| 30 —
o
m
T a0
]
g |
= 10 |

G — — — —
2008 2003 2010 2011 2012 2013
Years

The total number of road accidents in the year 2009, 2011 and 2013 combined together is

9 2009, 2011 3R 2013 H Ho AR TSF gele3n o} Weam farait g 2
Options:
1) 180000

2) 110000
3) 70000

4) 160000
Correct Answer: 180000
Candidate Answer: 180000

Question 73.The Bar graphs represents the number of road accidents due to bus and car during the years 2008 - 2013. Study the graph and answer the questions.
TY IR W | 98 2008-2013 F GRM T 3R HR & HRUI §5 TSH gUCI3N & TReAril Pl S=far 11 g | W BT 1&g PIfg 3R U=A! & Ik g |

B0 Mo of accidents by bus
E so 3 No of accidents by car
3
a
b2
£ 40
4
=
i
o 30 —
o
m
T a0 ' |
3 |
E
= 10 i

0 i : i |
Z00B 2009 2010 2011 2012 2013
Years

The ratio of the road accidents due to Bus in the year 2008 to that by Car in the year 2012 is

Tt 2008 T T & HRUT 3R Y 2012 H HR & HRUT §3 TS gHe 3 HT 3Ud 1 8 ?
Options:

1) 2:1

2)1:2

3)2:3

4) 3:4
Correct Answer: 3:4
Candidate Answer: 3:4

Question 74.The Bar graphs represents the number of road accidents due to bus and car during the years 2008 - 2013. Study the graph and answer the questions.
TY IR W & 98 2008-2013 F GRH T 3R HR & HRUI §5 TSH GUcISN & TReA Pl S=far 71 § | W BT 1&g Iy 3R U1 & IR T |

B0 s Mo of accidents by bus
E so 3 No of accidents by car
3
a
b2
£ 40
g
=
i
| 30 —
o
m
T a0
]
g |
= 10 |

G — — — —
Z00B 2009 2010 2011 2012 2013
Years
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Iy 2012, 2010 3R 2009 H HR GRT g G & I HHR: SIUTT RN G ?

Options:
1) 2:5:4

2) 4:5:4
3) 4:3:2

4) 4:5:2
Correct Answer: 4:5:4
Candidate Answer: 4:5:4

Question 75.The Bar graphs represents the number of road accidents due to bus and car during the years 2008 - 2013. Study the graph and answer the questions.
TY IR W & 98 2008-2013 F GRM T 3R HR & HRUI §5 TS U3 & TReAril Pl S=far 71 g | W 6T 1&g HIforg 3R U=A1 & IR Ty |

B0 . . Mo of accidents by bus

E so Mo of accidents by car
3

a

b2

£ %

4

[=

i

o 30

o

m

T a0

]

E

= 10

| {
0 | . i)
2008 2003 2010 2011 2012 2013
Years

The ratio of the averages of the road accidents due to Bus to that by Car in the year 2008, 2011 and 2013 is

ay 2008, 2011 3R 2013 H S & PRI 3R FR GRI s TSP gucSH BT S U F1E ?
Options:
1) 4:5

2)5:4
3)5:1

4) 1:4
Correct Answer: 5:4
Candidate Answer: 5:4

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

LETHARGIC
Options:

1) ENERGETIC
2) LAZY

3) LETHAL

4) LEGAL

Correct Answer: LAZY
Candidate Answer: LAZY

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

MALLEABLE

Options:

1) TEACHABLE
2) INTRACTABLE
3) MANAGEABLE
4) PLIABLE

Correct Answer: INTRACTABLE
Candidate Answer: PLIABLE

Question 78 FRYFSAEWAR AVt HALHETIAT'F 81 YRS BYFPEE S TG A 6T A IatES e RanT Uiadtes
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1) Persemonious
2) Persimonoius
3) Parsemonious
4) Parsimonious

Correct Answer: Parsimonious
Candidate Answer: [ NOT ANSWERED ]

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Sooner had he come (A)/ his colleagues (B)/ organised a get together (C)/ No Error (D)
Options:

1HA

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I enjoyed during (A)/ my tenure (B)/ at Shimla (C)/ No error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The Government offered him (A)/ clerical job (B)/ but he turned it over (C) / No error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

After a noisy and tumultuous supper, we for the day.

Options:

1) retirement
2) retiring

3) retired

4) retire

Correct Answer: retired
Candidate Answer: retired

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The villager cried his voice for help

Options:

1) on the top of
2) in the top of
3) from the top of
4) at the top of

Correct Answer: at the top of
Candidate Answer: at the top of

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Simon teaches children water colour painting
Options:

1) the art on

2) the artin

3) the art by

4) the art of

Correct Answer: the art of
Candidate Answer: the art of

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Be down with
Options:
1) Suffering from . . .
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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3) In pain with

4) Aching with

Correct Answer: Suffering from

Candidate Answer: Suffering from

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Fair - weather friend

Options:

1) Honest only when easy and convenient

2) Truthful only when easy and convenient

3) Supports only when easy and convenient
4) Temporary only when easy and convenient

Correct Answer: Supports only when easy and convenient
Candidate Answer: [ NOT ANSWERED ]

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Pull together

Options:

1) Become friends

2) Work harmoniously

3) Be successful

4) Live happily

Correct Answer: Work harmoniously
Candidate Answer: Become friends

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A place where soldiers live
Options:

1) Tanks

2) Shacks

3) Ordnance Depots

4) Barracks

Correct Answer: Barracks
Candidate Answer: Shacks

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A man who collects old and new coins.
Options:

1) Geologist

2) Numismatist

3) Archaeologist

4) Zoologist

Correct Answer: Numismatist
Candidate Answer: Numismatist

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Regular users of places/restaurant etc.
Options:

1) Client

2) Clientele

3) Often

4) Usage

Correct Answer: Clientele
Candidate Answer: Client

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

This material is not much enough for me

Options:

1) not more enough

2) not so much enough
3) not enough

4) No improvement

Correct Answer: not enough
Candidate Answer: not enough

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

This is a change of my usual work
Options:

1) from my usual work

2) for my usual work

3) in my usual work

4) No improvement

Correct Answer: from my usual work

Candidate Agppit WNW Y iiSths.in for tons of free study materials and latest exam updates.
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Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Maharana Pratap killed many enemy soldiers through his sword.
Options:

1) by his sword

2) with his sword

3) across his sword

4) No improvement

Correct Answer: with his sword

Candidate Answer: with his sword

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Everyone hoped of good weather on the day of the wedding
Options:

1) for

2) at

3) about

4) no improvement

Correct Answer: for
Candidate Answer: for

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He asked the child to go and play with some others children.
Options:

1) some other's children

2) some others

3) some other

4) No improvement

Correct Answer: some other
Candidate Answer: some other

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Two men were once walking along a forest path, talking of courage and loyalty. The bigger one, who had a gun, was boasting of his own bravery and fidelity, when
suddenly a large bear came from behind a rock close in front of them, and stood in their way growling angrily. The boaster fled to the nearest tree, dropped his gun,
and climbed to a safe place without thinking of his poor friend. The latter flung himself upon his face as though dead. The bear smelt his body, turned him over, licked
his face, and supposing him to be dead, went on its way leaving him unhurt.

The other man came down from the tree, and going to his friend said "Well, what secrets did he whisper so quietly in your ear?". To which the little man, who owed
his life to his own presence of mind and not to the boasted bravery and fidelity of his companion, replied, "why, he said, 'put not your trust in braggarts,' and I shall
take his advice."

What were the two men talking about while walking along the forest path?
Options:

1) About their wives and children.

2) About money and fame.

3) About friendship and enjoyment.

4) About courage and loyalty.

Correct Answer: About courage and loyalty.
Candidate Answer: About courage and loyalty.

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Two men were once walking along a forest path, talking of courage and loyalty. The bigger one, who had a gun, was boasting of his own bravery and fidelity, when
suddenly a large bear came from behind a rock close in front of them, and stood in their way growling angrily. The boaster fled to the nearest tree, dropped his gun,
and climbed to a safe place without thinking of his poor friend. The latter flung himself upon his face as though dead. The bear smelt his body, turned him over, licked
his face, and supposing him to be dead, went on its way leaving him unhurt.

The other man came down from the tree, and going to his friend said "Well, what secrets did he whisper so quietly in your ear?". To which the little man, who owed
his life to his own presence of mind and not to the boasted bravery and fidelity of his companion, replied, "why, he said, 'put not your trust in braggarts,' and I shall
take his advice."

What is the meaning of the word "fidelity"?
Options:

1) Muscle

2) Strength

3) Faithfulness

4) Courage

Correct Answer: Faithfulness
Candidate Answer: Faithfulness

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Two men were once walking along a forest path, talking of courage and loyalty. The bigger one, who had a gun, was boasting of his own bravery and fidelity, when
suddenly a large bear came from behind a rock close in front of them, and stood in their way growling angrily. The boaster fled to the nearest tree, dropped his gun,
and climbed to a safe place without thinking of his poor friend. The latter flung himself upon his face as though dead. The bear smelt his body, turned him over, licked
his face, and supposing him to be dead, went on its way leaving him unhurt.

The other man came down from the tree, and going to his friend said "Well, what secrets did he whisper so quietly in your ear?". To which the little man, who owed
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After seeing the bear, what happened to the boaster?
Options:

1) He fled home.

2) He hid himself behind the rock.

3) He hid himself behind a shed.

4) He fled and climbed up the nearest tree.

Correct Answer: He fled and climbed up the nearest tree.
Candidate Answer: He fled and climbed up the nearest tree.

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Two men were once walking along a forest path, talking of courage and loyalty. The bigger one, who had a gun, was boasting of his own bravery and fidelity, when
suddenly a large bear came from behind a rock close in front of them, and stood in their way growling angrily. The boaster fled to the nearest tree, dropped his gun,
and climbed to a safe place without thinking of his poor friend. The latter flung himself upon his face as though dead. The bear smelt his body, turned him over, licked
his face, and supposing him to be dead, went on its way leaving him unhurt.

The other man came down from the tree, and going to his friend said "Well, what secrets did he whisper so quietly in your ear?". To which the little man, who owed
his life to his own presence of mind and not to the boasted bravery and fidelity of his companion, replied, "why, he said, 'put not your trust in braggarts,' and I shall
take his advice."

What made the bear go away after examining the man?
Options:

1) The bear thought the man was dead.

2) The bear could not stand the bad odour of the man.
3) The bear did not want to eat the man.

4) The bear heard a noise and was scarred.

Correct Answer: The bear thought the man was dead.
Candidate Answer: The bear thought the man was dead.

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Two men were once walking along a forest path, talking of courage and loyalty. The bigger one, who had a gun, was boasting of his own bravery and fidelity, when
suddenly a large bear came from behind a rock close in front of them, and stood in their way growling angrily. The boaster fled to the nearest tree, dropped his gun,
and climbed to a safe place without thinking of his poor friend. The latter flung himself upon his face as though dead. The bear smelt his body, turned him over, licked
his face, and supposing him to be dead, went on its way leaving him unhurt.

The other man came down from the tree, and going to his friend said "Well, what secrets did he whisper so quietly in your ear?". To which the little man, who owed
his life to his own presence of mind and not to the boasted bravery and fidelity of his companion, replied, "why, he said, 'put not your trust in braggarts,' and I shall
take his advice."

What saved the little man?

Options:

1) The aid from the villagers

2) His friend's bravery

3) His own presence of mind

4) His own courage

Correct Answer: His own presence of mind

Candidate Answer: His own presence of mind
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